1. 

Find the critical values for the alternative hypothesis: 




H1: p not equal to 0.18 ,alpha =0.09. Assume that the normal distribution applies.




What are the critical values?

2. 

A student claimed that the proportion of students using the current recreation centre is less than 0.4. A survey of 900 students resulted in 47% saying that they did use the recreation center. Find the test statistic.

3.    Suppose a study is conducted to test the claim, at a 0.05 significance level, that a population proportion is 40%. A simple random sample of 750 subjects has a proportion of 42%. Find the test statistic, critical values and p-value.

4.  

In a study of checkout-scanners, 8 of 650 items were found to be overcharges. Test at the 0.01 significance level, the claim that with scanners, 1% of sales are overcharges. Find the test statistic, critical values.

5.     
Determine whether the given conditions justify using the methods of this section when testing a claim about the population mean . The simple random sample size is n =15, 
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 is not known, and the original population is normally distributed.

         Can these methods be used or not?

6.  

In order to monitor the ecological health of the florida everglades, various measurements are recorded at different times. The bottom temperatures are recorded at the Garfield Bight Station, and the mean of 20.8 degree celcius is obtained for 46 temperatures on 46 different days. Assuming that 
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, test the claim that the population mean is greater than 20.0 degree celcius. Use a 0.05 significance level. 



Calulate the test statistic(round to the nearest hundredth) and the p-value.(Round 



to four decimal places) and conclusion.

7. 
Determine whether the hypothesis test involves a sampling distribution of means that is a normal distribution, student t distribution or neither

      Claim: mean = 50. Sample data: n=35, x-bar =53, and s =5. 


The sample data appear to come from a population with a distribution that is not normal with unknown 
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. State only type of distribution.
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